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Sletting - ett barn
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Sletting - ett barn
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Sletting

1 Node d e l e t e (E e , Node branch )
2 i f branch doesn ’ t c on t a i n e
3 nextBranch = d e l e t e ( e , nextBranch )
4 r e t u r n branch
5
6 i f l e f t i s n u l l and r i g h t i s n u l l
7 r e t u r n n u l l
8
9 i f branch has a s i n g l e c h i l d

10 r e t u r n c h i l d
11
12 i f branch has two c h i l d r e n
13 r e t u r n i nne rmos t c h i l d o f one o f them
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Enkeltrotasjon

1 Node r o t a t eW i t h L e f t Ch i l d (Node Y)
2 Node X = Y. l e f t ;
3 Y . l e f t = X. r i g h t ;
4 X . r i g h t = Y;
5 // Update X and Y ’ s h e i g h t v a r i a b l e s
6 return X;
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Dobbeltrotasjon

1 Node doub l eRo t a t eW i t hLe f tCh i l d (Node Z)
2 // Z . l e f t i s X
3 Z . l e f t = r o t a t eW i t hR i gh tCh i l d (Z . l e f t )
4 return r o t a t eW i t h L e f t Ch i l d (Z)
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Dobbeltrotasjon - eksempel
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Innsetting

1 Node i n s e r t (E in , Node branch )
2 i f branch i s nu l l

3 return new Node ( i n )
4
5 i f i n i s l e s s than branch
6 branch . l e f t = i n s e r t ( in , branch . l e f t )
7 i f l e f t branch i s 2 h i g h e r than r i g h t branch
8 i f i n was p l a c ed i n l e f t branch ’ s l e f t branch
9 branch = r o t a t eW i t h L e f t Ch i l d ( branch )

10 e l s e
11 branch = doub l eRo t a t eW i t hLe f tCh i l d ( branch )
12 e l s e i f n i s g r e a t e r than branch
13 // Do the same as above , but m i r r o r e d
14 // Do noth i ng f o r d u p l i c a t e s
15
16 branch . h e i g h t = Math . max( l e f t branch ’ s he i gh t ,
17 r i g h t branch ’ s h e i g h t )
18 r e t u r n branch // Branch might have changed


